43263

&Roco—| Original ROCO-Ersatzteile
Original ROCO Replacement Parts

B | Ar-Nr. Text 2 %
1| 93519 Glahlampe 10
Light bulb
2| 85671 Zylinderkopfschraube M 2x5
Cheese headed screw M 2x5
3| 85752 Stiftschraube
Pin screw
4| 85803 Sechskantschraube M 1x3,6
Crankpin screw M 1x3.6
5| 85809 Kessel-Schraube M 2
Boiler screw M 2
6| BE104 Distanzhilse
Small distance pipe
7| 86202 Feder
Spring
B | B7667 | Platine komplett
Printed circuit assembly
9| 88556 Puffer, flach
Buffer, flat
10 | BBS57 Puffer, gewdlbt
Buffer, vaulted
11| B9478 Steuerung komplett, rot
Steering assembly, red
12 | B9508 Kuppelstange 2, rot
Connecting-rod 2, red
13| 89507 | Kuppelstange 3, rot
Connecting-rod 3, red
14 | 89508 Kuppelstange 1, rot
Connecting-rod 1, red
15 | 89509 Kuppelstange 4, rot
Connecting-rod 4, red
16 | 90487 Vorlaufachse, rot
Pilot wheel set, red
17 | 90488 1. u. 5. Kuppelachse, rot
1st resp, 5th wheel set, red
18 | 90489 4, Kuppelachse, rot
4th wheel set, red
19 | 90490 2. Kuppelachse, rot
2nd wheel set, red
20 | 90491 3. Kuppelachse, rot
3rd wheel sel, red
21| 92207 Bremsschlauch
Brake pipe
22 | 92208 Kupplungshaken
Coupling hook
23 | 92365 Lichtleitstab, links
Light transmission bar, left
24 | 92366 Lichtleitstab, rechts
Light transmission bar, right
25 | 92367 | Laternenplatte
Latern plate
26 | 92377 | Dampfeinstrémrohr, links
Steam pipe, left
27 | 92384 | Bremszylinder, links, rot
Brake cylinder, left, red
28 | 92385 | Bremszylinder, rechts, rot
Brake cylinder, right, red
29 | 52386 Kesselstiitze
Boiler support
30| 92389 Lokrahmen
Loco frame
31| 92418 Zylinderblock
Cylinder block
32 | 92419 | Mittelzylindereinsatz
Middle cylinder insert
33 | 92420 | Schiebereinsatz
Slider insert
34 | 92425 | Dampfeinstromrohr, rechts
Steam pipe, right
35| 92438 Vorlaufgestell, rot
Pilot frame, red
36 | 92439 | Zweiteiliger Behalter, rot
Double tank, red
37 | 92440 | Einteiliger Behalter, rot
Tank, red
38 | 92441 Pumpentréager, rot
Pump carrier, red
39 | 92444 Laufstegstiitze, links, rot
Supporting plate, left, red
40 | 92445 | Laufstegstitze, rechts, rot
Supporting plate, right, red
41 | 92446 Bremsbacken, rot 20
Brake shoes, red
42 | 92449 Bremsgestinge, rot 10
Brake rods, red
43 | 92467 Auftritt 2
Step
44 | 92503 | Laufgesteliblattfeder 5
Spring for pilot frame
45| 92504 Sechskantkopfschraube M 1,2x3 2
Screw M 1,2x3
46 | 92505 | Lok-Tender-Kupplung komplett 18
Loco tender coupling assembly
47 | 92506 | Seuthe-Kontakt komplett 29
Seuthe contact assembly
48 | 9231 Laterne komplett 6
Lentern assembly
Blatt 293/ 2

Page 293/ 2



